M6 –PL9- PRÁCE SE ZÁVORKAMI

1. Vypočítej:

0. (50,091 + 6,789) : ( 14,2 - 7,88) =					
0. (102,98 - 58,34) : (0,28 + 2,51) =					
0. 7,96 – ( 4,18 + 2,96 ) =	


1. Vypočítej:

0. 16,5 – ( 331,2 : 24 ) = 					
0. 123,7 – ( 3 + 0,7 . 4,3 ) + 14,03 = 	
0. 63,2 + ( 7 – 0,4 . 2,9 ) . 27,3 = 		
0. ( 15 697,8 : 5,4 ) : 38 = 					
0. ( 27,4 . 18,3 + 3 866,58 ) : 78 = 	

1. Vypočítej:

0. ( 718 + 156 + 924 ) . ( 19,908 : 0,84 ) = 		
0. ( 12 047 – 8 915 ) . ( 296 + 384 – 423 ) =		
0. ( 286,766 + 604,3 – 715,49 ) : 0,34 =			
0. 814,6 – ( 156,96 : 4,8 ) = 							
0. 253 + ( 6 052 : 17 ) – 412 =						
0. ( 484,826 + 467,39 – 817,48 ) : 4,2 =			
0. ( 1 284,278 – 906,05 ) : ( 2,22 + 2,08 ) =  		

1. Vypočítej:


1. ( 0,7 . 0,4 ) : 1,4 =		
1. ( 3,6 : 0,09 ) . 0,8 =		
1. ( 3,6 + 4,8 ) : 1,2 =		
1. ( 6,7 + 5,9 ) : 0,21 =		
1. 0,7 – ( 0,4 + 0,3 ) =		
1. 0,7 : ( 0,4 – 0,3 =			
1. 0,9 – ( 0,4 – 0,2 ) =		
1. 0,7 . ( 0,4 + 0,3 ) =		
1. 0,9 . ( 0,4 + 0,2 ) =		
1. 0,8 : ( 0,4 – 0,2 ) =		
1. 7,8 : ( 6,8 – 4,2 ) =		
1. ( 8,9 + 13,6 ) : 1,5 =	




11. Vypočítej:

0. ( 274 . 183 + 386 658 ) : 78 =		
		
0. ( 236 + 172 ) : ( 900 : 75 ) =				

0. ( 2 638,02 – 186,9 ) : 2,8 =					

0. ( 718 + 156 + 924 ) . ( 19 908 : 84 ) =	

0. ( 1 134,038 – 187,358 ) : 23 = 			

0. ( 148,5 – 132,372 ) : 4,2 =					

0. ( 234,2 – 226,8492 ) : 9,4 =				

0. ( 38,6 + 42,9 + 17,04 + 3,21 ) : 3,7 =	

0. ( 29,7 + 32,4 + 78,06 + 1,65 ) : 2,9 =	

0. ( 196,8 + 27,05 – 128,99 ) : 1,8 =	

0. ( 372,49 + 897,04 – 610,28 ) : 7,5 =		
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